AYIY

CIE Y sensitivity

AYIY) 1 (AYIY), CIE Y sensitivity

S=AYIY SIS, =(AY/v)I(AYIY), normalized to AV 1Y,
0,03 L*gs.= (Ya) In (1 +aY) 6 L*gs= (ta) In (1+aY) [11]
a=0,3411 t=88,23 t/a=258,6
tristimulus value Y sensitivity tristimulus value Y sensitivity
0.02 dY/Y=(1+aY)/(tY) 4 dY/Y) 1 (dYy/Yy)
’ :[(1+a'Y)3,.3ﬁQ(1+a'Yu)/Yu] [3f]
application
0,01 range
dY/Y¥=0,00 m=-0,13 0,885
'y::'lgf d-Yu-:O-’ 0-8,-(:1\-//\7u)-=(f 004 Y,=18, dY,=0,08, €Y/Y,)=0,004 -
0.00 0,1 1 0,1 1 10 ,Y,=18100y
T2 -2 -1 0 1 2 logY
heb80-5a heb80-6a
YIAY CIE Y-based contrast | [(Y/AY)/ (Y /AY,) CIE Y-based contrast
C,=YIAY C/C=(YIAY)I(YIAY), normalized to YU/AYu
600 L*g5= (a)In (1 +aY) L*gs= () In (1+aY) [1h]
a=0,3411 t=88,23 t/a=258,6
tristimulus value Y contrast tristimulus value Y contrast
400 Yidy=1+aY)/(tY) (YIdY) / (Y, dY,)
=[Y/(L+aY)]/[Y,/(1+aYy)] [4h]
e o V227251, 2 L 55.2,7508 Y,=18, 4Y,=0,08, //d¥,)=222; 19g
 log(v/dv);=2,34 m=0,13 . log[(Y/dY),/(Y/dY),]=0, m,=0,13 e
200 - ---------------.’."
s application
0,29% ‘ : range
o 0,1 7 10 "Y,=18100y
- -2 -1 0 1 2 logY
heb80-7a heb80-8a
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